2011

AUCTION REPORT

ANTLER LIST



Bid.#	Lot #	Description	Weight	\$/Lb.	Extension
4	1	Medium Antler Bundle 6 rights	22	\$7.75	\$170.50
22	2	Small Antler Bundle 9 lefts	27	\$8.25	\$222.75
14	3	Skull 5x6	9	\$9.25	\$83.25
69	4	Medium Antler Bundle 4 lefts	27	\$9.00	\$243.00
34	5	Small Antler Bundle 7 lefts	17	\$7.75	\$131.75
18	6	Small Antler Bundle 5 rights	14	\$8.50	\$119.00
37	7	Large Antler Bundle 4 lefts	35	\$8.25	\$288.75
77	8	Matched Pair	22	\$10.75	\$236.50
121	9	Large Antler Bundle 4 rights	36	\$9.75	\$351.00
4	10	Skull 6x6	18	\$9.25	\$166.50
96	11	Matched Pair unique - still in velvet	17	\$10.00	\$170.00
18	12	Medium Antler Bundle 12 rights	44	\$9.50	\$418.00
76	13	Spikes	17	\$11.25	\$191.25
76	14	3 small moose paddles	13	\$15.00	\$195.00
70	15	Matched Pair 6x6	33	\$9.75	\$321.75
106	16	Beetle Cleaned 5x7	16	\$12.50	\$200.00
34	17	Small Antler Bundle 7 lefts	15	\$10.00	\$150.00
12	18	Large Antler Bundle 6 rights	35	\$10.25	\$358.75
3	19	2 Matched Pair 5x5	36	\$11.25	\$405.00
12	20	Pallet of medium lefts & rights	254	\$8.25	\$2,095.50
18	21	Large Antler Bundle 4 lefts	39	\$8.00	\$312.00
83	22	Small Antler Bundle 9 leftts	29	\$9.00	\$261.00
38	23	Matched Pair 5x6	8	\$13.00	\$104.00
130	24	Small Antler Bundle 10 rights	27	\$10.00	\$270.00
87	25	Large Antler Bundle 6 rights	48	\$9.00	\$432.00
107	26	3 Matched Pair 5x5	33	\$11.25	\$371.25
17	27	Large Antler Bundle 2 rights non typical	21	\$20.50	\$430.50
104	28	Medium Antler Bundle 6 lefts	30	\$10.00	\$300.00
50	29	Medium Antler Bundle 8 lefts	29	\$9.00	\$261.00
46	30	Beetle Cleaned 6x6	19	\$12.25	\$232.75
48	31	3 Matched Pair nice brown	42	\$12.00	\$504.00
54	32	Large Antler Bundle 4 rights 7 pts	38	\$10.75	\$408.50
68	33	Pallet of broken antler	270	\$7.25	\$1,957.50
56	34	3 Matched Pair	28	\$11.50	\$322.00
22	35	Small Antler Bundle 18 lefts	47	\$8.75	\$411.25
64	36	Small Antler Bundle 20 rights	49	\$10.50	\$514.50
18	37	Large Antler Bundle 6 rights	43	\$10.75	\$462.25

Page 1

2011

AUCTION REPORT

ANTLER LIST



Bid.#	Lot#	Description	Weight	\$/Lb.	Extension
47	38	Matched Pair 5x5	6	\$35.00	\$210.00
2	39	Pallet of large lefts & rights	215	\$8.50	\$1,827.50
34	40	Small Antler Bundle 6 rights	23	\$10.75	\$247.25
51	41	Medium Antler Bundle 8 lefts	26	\$9.26	\$240.63
10	42	Large Antler Bundle 4 rights	44	\$10.00	\$440.00
104	43	2 Matched Pair 6x6	25	\$11.25	\$281.25
107	44	Skull Cap 6x6	16	\$11.00	\$176.00
14	45	Beetle Cleaned 6x7	21	\$16.00	\$336.00
65	46	Medium Antler Bundle 10 rights	34	\$9.75	\$331.50
4	47	Medium Antler Bundle 7 lefts	28	\$8.00	\$224.00
87	48	Large Antler Bundle 4 lefts	38	\$10.50	\$399.00
51	49	Large Antler Bundle 4 rights	36	\$10.25	\$369.00
50	50	Small Antler Bundle 6 lefts	21	\$8.50	\$178.50
3	51	Small Antler Bundle 12 lefts	34	\$12.50	\$425.00
100	52	Pallet of medium rights	233	\$8.00	\$1,864.00
18	53	Large Antler Bundle 8 lefts	45	\$9.00	\$405.00
87	54	Large Antler Bundle 4 rights	36	\$9.25	\$333.00
64	55	Medium Antler Bundle 8 lefts	43	\$8.50	\$365.50
119	56	Large Antler Bundle 3 lefts	31	\$10.50	\$325.50
20	57	Small Antler Bundle 12 lefts	24	\$9.75	\$234.00
20	58	Small Antler Bundle 8 rights	21	\$10.25	\$215.25
107	59	Small Antler Bundle 20 lefts	45	\$9.00	\$405.00
69	60	3 Matched Pair 5x5	36	\$11.00	\$396.00
59	61	Large Antler Bundle 5 rights	35	\$9.25	\$323.75
125	62	Beetle Cleaned 6x7 est. B&C 280	19	\$14.00	\$266.00
129	63	Moose Skull Cap	25	\$27.00	\$675.00
68	64	Pallet of medium lefts	259	\$8.00	\$2,072.00
51	65	Large Antler Bundle 10 rights	53	\$8.25	\$437.25
118	66	Skull Cap 5x5	18	\$9.50	\$171.00
69	67	Small Antler Bundle 8 lefts	20	\$8.50	\$170.00
34	68	3 Matched Pair	43	\$9.50	\$408.50
46	69	Small Antler Bundle 12 lefts	43	\$8.75	\$376.25
22	70	Medium Antler Bundle 4 lefts	18	\$9.00	\$162.00
130	71	Large Antler Bundle 8 rights	50	\$7.75	\$387.50
119	72	Large Antler Bundle 3 lefts	32	\$8.50	\$272.00
44	73	Large Antler Bundle 4 lefts	34	\$10.25	\$348.50
33	74	Pallet of broken antler	260	\$7.75	\$2,015.00

Page 2

2011

AUCTION REPORT

ANTLER LIST



Bid.#	Lot #	Description	Weight	\$/Lb.	Extension
83	75	Small Antler Bundle 10 rights	28	\$9.25	\$259.00
134		Beetle Cleaned 6x6 est. B&C 330	27	\$20.00	\$540.00
42	77	Skull 6x6	23	\$8.75	\$201.25
3	78	Small Antler Bundle 12 rights	33	\$9.25	\$305.25
41	79	Small Antler Bundle 11 lefts & rights	19	\$10.75	\$204.25
111	80	Large Antler Bundle 4 rights	33	\$9.50	\$313.50
2	81	Large Antler Bundle 6 rights	53	\$8.50	\$450.50
51	82	Large Antler Bundle 6 lefts	57	\$7.50	\$427.50
50	83	Small Antler Bundle 8 rights	25	\$9.25	\$231.25
65	84	Small Antler Bundle 18 rights	35	\$9.50	\$332.50
20	85	Small Antler Bundle 6 rights	21	\$9.75	\$204.75
100	86	Pallet of large lefts	239	\$7.50	\$1,792.50
46	87	Medium Antler Bundle 8 rights	33	\$7.75	\$255.75
130	88	Medium Antler Bundle 8 lefts	28	\$8.50	\$238.00
76	89	Large Antler Bundle 4 rights	36	\$8.25	\$297.00
87	90	Beetle Cleaned 6x6 est. B&C 290	22	\$16.00	\$352.00
17	91	2 Matched Pair 6x6	38	\$14.00	\$532.00
92	92	2 Matched Pair	40	\$9.50	\$380.00
87	93	Skull Caps 5x6 & 6x6	36	\$7.50	\$270.00
35	94	Matched Pair 5x5	18	\$16.00	\$288.00
8	95	Beetle Cleaned 6x6	23	\$15.00	\$345.00
28	96	Pallet small lefts & rights	259	\$7.75	\$2,007.25
46	97	Beetle Cleaned 5x6	25	\$14.25	\$356.25
100		3 Matched Pair	47	\$7.50	\$352.50
67	99	Skull 6x6	28	\$10.00	\$280.00
44		2 Matched Pair 6x6	42	\$11.25	\$472.50
42	101	Skull 6x7	29	\$12.25	\$355.25
56	102	2 Matched Pair 6x6	39	\$9.25	\$360.75
85	103	Beetle Cleaned 6x6	22	\$18.00	\$396.00
100	104	Pallet of medium lefts & rights	280	\$7.50	\$2,100.00
94		Matched Pair 5x5	24	\$13.00	\$312.00
26		Matched Pair 6x6	19	\$9.50	\$180.50
8	107	Skull 5x5	27	\$13.25	\$357.75
74		Beetle Cleaned 6x6 est. B&C 345	24	\$24.00	\$576.00
95		Large Antler Bundle 5 rights	43	\$8.50	\$365.50
87		Large Antler Bundle 3 rights	30	\$9.25	\$277.50
51	111	Large Antler Bundle 4 lefts 7 pts	34	\$7.75	\$263.50

Page 3

2011

AUCTION REPORT

ANTLER LIST



Bid.# L	_ot #	Description	Weight	\$/Lb.	Extension
26	112	2 Matched Pair 6x6	36	\$9.25	\$333.00
64	113	Moose Skull Cap	36	\$20.50	\$738.00
92	114	Bison Skull beetle cleaned	1	\$360.00	\$360.00
28	115	Pallet of medium lefts & rights	264	\$7.75	\$2,046.00
45	116	Matched Pair 5x6	25	\$12.50	\$312.50
80	117	Beetle Cleaned 7x9 est. B&C 365	29	\$27.00	\$783.00
92	118	Matched Pair 6x7	25	\$14.25	\$356.25
80	119	Skull 1x6	24	\$54.00	\$1,296.00
17	120	Matched Pair 7x7	26	\$26.00	\$676.00
61	121	Beetle Cleaned 7x8	27	\$22.00	\$594.00
48	122	Moose Skull Cap	35	\$21.00	\$735.00
19	123	Trailer of white antler	790	\$7.00	\$5,530.00
100	124	Trailer of broken brown antler (red trailer)	1,160	\$7.35	\$8,526.00
28	125	Trailer of brown antler (brown trailer)	1,880	\$7.25	\$13,630.00
100	126	Trailer of brown antler (black & sliver	1,800	\$7.15	\$12,870.00
19	127	Brown Antler Trailer	1,720	\$7.50	\$12,900.00